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21(a) ans:
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L 22(a) ans proof

L e writes rano of sin

e shows simplification to answer JO8 = VA9 x N2 =T n
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e solves *fo + chooses appropriate valu

e’ substitutes and states point A
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| Give | mark for each ¢ | iustration(s) for awarding each mark
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1(a)y ans: g=1:h=4.c=-129 (4 marks) |

‘ finds gradient of BD L e mppT A

¢l finds cradient of AC | e mac=—Vs

¢ subsino v—b=mlx—aj and rearranges | €V Cf= (XX TAY T 20 =1
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- (b) ans:  E(5.6) (3 marks)
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> golves forxand )} e =S v=¢

states coordinates of £ e (3.0

o (cy | aps: C(13,4) (2 marks) |

1 ; ,1

¢ appropriate method e evidence of ‘stepping out” Of other m
-~ answer L e C(13.4)

2(a) | anms: proof (3 marks) |

1 & knows 10 subsuuute | € evidence of sub. one unchion 1 ot
| | € subsututes correctly e I
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Give | mark for each ¢ Hlustration(s) for awarding each mark

3(a) | ams: P(1.0): Qi=2.27) (3 marks)

e 7 '(x)=0 at SP [stated or implied]

e » © B

(b) | ans: 405 units” (4 marks) |

€ sets up integral Coel | x5y —12x =T ax
€~ integrales exXpression Le —+

| {14

i L =y =6y +7(0) | -
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subs for sin 22" e 15(2sinx"cosx”
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e factorises L e

e’ finds two solutions &' sinx®=-:x=10.5°91605°
&€  finds further two solutions e cosx® =0 x =90°.270°
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e uses synthetic division to find root ¢ p=-3
(¢} | ans: 98 (2 marks)
X [ {3 o A5 -0 -
. &' finds gradient of AB e omy == T
| 3-2
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|
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e’ factorises and solves
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